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Math 240 Quiz 1

1. Circle true or false (you do not need to justify your answer). A and B are any n x n
maftrices,

a) The subset W = {(x1,...,2,) € Rﬁ T+ 2y + -+ 2, = 0} is a subspace in R™.
-
@ False

b) The subset {(x,y) € R? |y = 2%} is a subspace in
True

False

¢} I det(A) = 0, then the system

T 0

Ty 0
A =

Tn 0

has infinite] many solutions.
@ False
d) det(ABAZY) = det B if A is invertible. _
@ False

e) det(A+ B) =det A+ det B

True False



2. Find the rank and the nullity of the matrix

11 -1
A=1] 2 -2 &
3 -1 5
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3. Find the inverse of the matrix

ginf# —cosfl 0
A= | cosf sinf 0
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4. Extra credit No partial credit. Complete answers only.

a) Write down the definition of the image of an m x n matrix 4.
b} Find a basis for the image of the matrix A in question 2.
¢) Find a basis for the solution space to A% = 0 for the same matrix A.
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